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Year Based Puzzle  
 

Directions (1-5): Study the following information 

carefully and answer the questions given below: 

 

Nine Persons i.e. Shivam, Amit, Rishu, Mishi, Kirti, 

Soham, Ravi, Dolly and Gargi was born in nine different 

years i.e. 1872, 1885, 1894, 1990, 1994, 1996, 1998, 2000 

and 2004 but necessarily in the same order. 

Rishu was born in the year 1990. Only one person was 

born in between Rishu and Soham. No one was born in 

between Soham and Amit. Kirti was born in the year 2000. 

There is the difference of two years in between the age of 

Kirti and Shivam. Dolly is elder than Rishu but she is not 

the eldest. Ravi is the youngest person among all. There is 

the difference of more than two years in between the age 

of Mishi and Gargi where Mishi is elder than Gargi who 

was not born in the odd numbered year. 

1) Who among the following was born in the year 

1994? 

A) Dolly 

B) Amit 

C) Shivam 

D) Mishi 

E) None of These 

2) Four of the five are alike in a certain way and hence 

forms a group. Who among the following does not 

belong to that group? 

A) Soham 

B) Ravi 

C) Rishu 

D) Dolly 

E) Gargi 

3) Which of the following combination is not true? 

A) 1990-Rishu 

B) 1998-Shivam 

C) 1894-Dolly 

D) 2004-Ravi 

E) All are True 

4) Which of the following statements is/are not true? 

A) Soham was born after the birthday of Kirti 

B) Ravi was born at the last among all 

C) Gargi was born in the year 1894 

D) Both A and B 

E) Both A and C 

5) In which of the following year did Kirti born? 

A) 1885 

B) 1990 

C) 1994 

D) 2004 

E) 2000 

 

Directions (6-10): Study the following information 

carefully and answer the questions given below: 

 

There are seven Mobiles i.e. Samsung M30, OnePlus, 

Realme 5, Nokia 2.0, Jio, Oppo, and Samsung S8 and all 

mobiles were launched in different years i.e. 1999, 2001, 

2004, 2005, 2007, 2010 and 2014 but not necessarily in 

the same order. 

Jio mobile was launched in the odd numbered year but not 

in 1999 and 2001. OnePlus mobile was launched just after 

the launch of Jio mobile. Two mobiles were launched in 

between the launch of OnePlus mobile and the mobile of 

Realme 5. Oppo and Samsung S8 mobile were launched 

in the difference of two years where the former one was 

launched earlier than the latter one. Nokia 2.0 mobile was 

launched after the launch of OnePlus mobile. Samsung 

M30 mobile was launched before the launch of Nokia 2.0 

mobile but after the launch of Realme 5.  

6) Jio mobile was launched in which of the following 

year? 

A) 2005  

B) 2010 

C) 2007 

D) 1999 

E) 2001 

7) Which of the following statements is/are true? 

A) Oppo mobile was launched at the earliest among all 

B) OnePlus was launched after the launch of Nokia 2.0 

C) Samsung S8 was launched in 2001 

D) Both A and C 
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E) All of the Above 

8) Which of the following combination is not true? 

A) 2001-Samsung S8 

B) 2004-Samsung M30 

C) 2010-OnePlus 

D) 1999-Oppo 

E) 2014-Nokia 2.0 

9) Which among the following mobile was launched in 

2005? 

A) Realme 5 

B) OnePlus 

C) Jio 

D) Samsung M30 

E) Oppo 

10) How many mobiles were launched in between the 

launch of Samsung S8 and OnePlus? 

A) One 

B) More than Four 

C) Four 

D) Two 

E) Three 

 

Directions (11-15): Study the following information 

carefully and answer the questions given below: 

 

There were Seven friends i.e. Vibhu, Vaishali, Vishal, 

Akbar, Jayant, Ravina and Arti are graduated in different 

years namely, 2000, 2003, 2006, 2010, 2013, 2015 and 

2017 but not necessarily in the same order.  

Vibhu was graduated in the odd year. Only one person was 

graduated between Vibhu and Akbar who was not 

graduated at last. Ravina was graduated at the earliest. Arti 

was graduated six years after the graduation of Ravina. 

There was the difference of two years in between the 

graduation of Vaishali and Jayant where Jayant was 

graduated after the Vaishali graduated. Vishal was not 

graduated before Vaishali.  

11) Who among the following was graduated in 2006? 

A) Ravina 

B) Arti 

C) Vaishali 

D) Vishal 

E) Vibhu 

12) How many persons were graduated in between 

Akbar and Vishal? 

A) One 

B) Two 

C) None 

D) Three 

E) More Than Three 

13) Which among the following combination is true? 

A) 2003-Arti 

B) 2000-Akbar 

C) 2017-Vishal 

D) 2010-Vibhu 

E) 2013-Jayant 

14) Which of the following statements is/are true? 

A) Jayant was graduated two years after the graduation of 

Vaishali 

B) Arti was graduated in the odd year 

C) Vishal was graduated at the last among all  

D) Both A and B 

E) Both A and C 

15) Four of the five are alike in a certain way and hence 

forms a group. Who among the following does not 

belong to that group? 

A) Vibhu 

B) Jayant 

C) Vishal 

D) Akbar 

E) Vaishali 

 

Directions (16-20): Study the following information 

carefully and answer the questions given below: 

 

There were eight friends i.e. P, R, A, E, H, T, W and Z 

were going on vacation in different year namely, 2001, 

2002, 2004, 2005, 2007, 2010, 2014 and 2019 but not 

necessarily in the same order. 

Three persons were going on vacation in between H and 

A where H went on vacation before A. P went on vacation 

immediately before A. More than two but less than four 

persons were going on vacation in between P and W. Only 

one person was going on vacation in between W and T 
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who did not go vacation in 2001. Z went on vacation just 

after the T went. R went on vacation just before the E went 

who did not go on vacation at last. R did not go on 

vacation in the even year. 

16) T was going on vacation in which of the following 

year? 

A) 2004 

B) 2007 

C) 2001 

D) 2014 

E) None of These 

17) Four of the five are alike in a certain way and hence 

forms a group. Who among the following does not 

belong to that group? 

A) W 

B) P 

C) R 

D) Z 

E) E 

18) Who among the following went on vacation in the 

year 2004? 

A) T 

B) R 

C) A 

D) W 

E) Z 

19) Which of the following statements is/are not true? 

A) H was going on vacation in the even year 

B) E was going on vacation in the year 2002 

C) P was going on vacation four years after the Z 

D) Both A and C 

E) Both A and B 

20) Which of the following combination is not true? 

A) 2005-H 

B) 2001-W 

C) 2019-A 

D) 2007-T 

E) 2002-E 

 

Directions (21-25): Study the following information 

carefully and answer the questions given below: 

 

There were eight friends i.e. Nihal, Kitty, Maggie, Bebo, 

Rocky, Virat, Ajay and Arvind are getting married in 

different years i.e., 1993, 1996, 2000, 2002, 2005, 2009 

2013, and 2018 but not necessarily in the same order. 

Less than three persons got married after the marriage of 

Bebo. Only one person got married in between Bebo and 

Kitty. Maggie was married at the earliest among all. Virat 

got married seven years after the marriage of Maggie. 

Rocky got married neither adjacent to the marriage of kitty 

nor adjacent to the marriage of Virat. Ajay did not get 

married in the even year. Arvind got married before the 

marriage of Nihal who got married three years before the 

marriage of Rocky. 

21) Who among the following got married in the year 

2002? 

A) Bebo 

B) Arvind 

C) Nihal 

D) Ajay 

E) Maggie 

22) In which of the following year did Virat get 

married? 

A) 2005 

B) 2000 

C) 2013 

D) 1994 

E) 2009 

23) Which of the following combination are not true? 

A) 1996-Arvind 

B) Nihal-2002 

C) Ajay-2013 

D) 2018-Rocky 

E) Maggie-1993 

24) Which of the following statements is/are not true? 

A) Rocky got married after the marriage of Ajay 

B) Virat got married two years before the marriage of 

Nihal 

C) Bebo got married in the year 2009 

D) Both A and B 

E) All are True 
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25) How many persons got married in between Arvind 

and the person who got married in 2009?  

A) One 

B) None 

C) Two 

D) Three 

E) More Than Three 

 

Directions (26-30): Study the following information 

carefully and answer the questions given below: 

 

There are seven friends i.e. Rohan, Seema, Kshitij, Varun, 

Damini, Tripti and Avi have taken admission in art class 

in different years i.e. 1992, 1993, 1995, 1998, 2003, 2006 

and 2011 but not necessarily in the same order. 

Seema has taken admission in the odd numbered year. 

Tripti has taken admission just before the Seema has 

taken. Two persons has taken admission in between the 

admission of Seema and Rohan. Only one person has 

taken admission in between the admission of Rohan and 

Avi. Kshitij has not taken admission in the year adjacent 

to the year in which Rohan has taken admission. Damini 

has taken admission after the admission of Varun but not 

in the odd numbered year. Avi didn't take admission 

adjacent to Damini. 

26) As per 2020, Who among the following has taken 

admission in the year 1992? 

A) Seema 

B) Tripti 

C) Varun 

D) Damini 

E) None of These 

27) Four of the five are alike in a certain way and hence 

forms a group. Who among the following does not 

belong to that group? 

A) Seema 

B) Kshitij 

C) Avi 

D) Damini 

E) Rohan 

28) Which of the following combination is not true? 

A) 1998-Varun 

B) 1993-Seema 

C) 2006-Damini 

D) 1995-Avi 

E) 2011- Rohan 

29) Which of the following statements is/are not true? 

A) Avi has taken admission three years before the 

admission of Tripti. 

B) Difference between the year of admission of Damini 

and Seema is twelve years 

C) Varun had taken admission just after the admission of 

Avi 

D) Both A and B 

E) Both A and C 

30) How many persons has taken admission in between 

the admission of Seema and Kshitij? 

A) One 

B) Four 

C) Three 

D) Two 

E) More Than Four 

 

Directions (31-35): Study the following information 

carefully and answer the questions given below: 

 

There were eight friends i.e. Vihan, Kabir, Akbar, Suresh, 

Somu, Abhay, Jeet and Pinku were retired in different 

years i.e. 2001, 2002, 2005, 2006, 2009, 2013, 2016 and 

2019 but not necessarily in the same order. 

Three persons has been retired in between the retirement 

of Vihan and Kabir where Vihan is retired before Kabir. 

Two persons has been retired in between Kabir and Pinku 

who was not retired at last. Akbar was retired just after the 

retirement of Pinku. Abhay got retired six years earlier 

than the retirement of Somu. Jeet has been retired in the 

even numbered year but not on 2016. Suresh was not 

retired after the retirement of Jeet. 

31) Vihan has got retire in which of the following year? 

A) 2005  

B) 2013 

C) 2006 

D) 2009 

E) 2001 
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32) Which of the following statements is/are true? 

A) Only one person has got retired in between Somu and 

Abhay 

B) Pinku was retired two years after the retirement of 

Vihan 

C) Somu was retired at last among all 

D) Both A and C 

E) All of the Above 

33) Which of the following combination is not true? 

A) 2001-Suresh 

B) 2006-Jeet 

C) 2016-Kabir 

D) 2009-Akbar 

E) 2019-Somu 

34) Which among the following Person was retired in 

2002? 

A) Vihan 

B) Suresh 

C) Pinku 

D) jeet 

E) None of These 

35) How many persons were retired in between the 

retirement of Kabir and Pinku? 

A) One 

B) More Than Four 

C) Four 

D) Two 

E) Three 

 

Directions (36-40): Study the following information 

carefully and answer the questions given below: 

 

There were seven friends namely, Mohit, Sneha, Naina, 

Rohit, Ajeet, Ritika and Juhi had joined a company in 

different years i.e. 1996, 1999, 2000, 2003, 2004, 2008 

and 2013 but not necessarily in the same order. 

Two persons had joined the company before Mohit had 

joined. Only one person had joined the company in 

between the joining of Mohit and Rohit. Juhi had joined 

the company in the given adjacent year in which Rohit had 

joined. Only one person had joined the company in 

between the joining of Juhi and Ajeet. Naina had joined 

the company at last among all. Sneha had joined the 

company before the joining of Naina but after the joining 

of Ajeet. There is the difference of five years in between 

the joining of Ajeet and Ritika. 

36) Who among the following was joined the company 

in 2004? 

A) Ritika 

B) Sneha 

C) Mohit 

D) Rohit 

E) Ajeet 

37) How many persons were joined the company in 

between Juhi and Ritika? 

A) One 

B) Two 

C) None 

D) Three 

E) More Than Three 

38) Which among the following combination is true? 

A) 1996-Juhi 

B) 1999-Rohit 

C) 2003-Ajeet 

D) 2008-Sneha 

E) 2013-Ritika 

39) Which of the following statements is/are true? 

A) Ritika had joined the company four years after the 

joining of Sneha 

B) Mohit was joined the company in the odd year 

C) Rohit was Joined the company at the earliest among all  

D) Both A and B 

E) Both A and C 

40) Four of the five are alike in a certain way and hence 

forms a group. Who among the following does not 

belong to that group? 

A) Rohit 

B) Mohit 

C) Sneha 

D) Juhi 

E) Ritika 

 

Directions (41-45): Study the following information 

carefully and answer the questions given below: 
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Eight persons i.e. Ruhi, Hema, Ankit, Mayank, Kavita, 

Faiza, Farhan and Akhtar got married in different years 

i.e. 2000, 2002, 2004, 2006, 2007, 2009, 2010 and 2013 

but not necessarily in the same order.  

Less than three persons got married after the marriage of 

Mayank. Only one person got married in between the 

marriage of Mayank and Akhtar. Farhan has got married 

in the year 2002. Ankit got married just after the marriage 

of Farhan. Ruhi got married three years after the marriage 

of Ankit. Kavita got married just before the marriage of 

Faiza. 

41) Ruhi got married in which of the following year? 

A) 2004 

B) 2007 

C) 2000 

D) 2013 

E) None of These 

42) Four of the five are alike in a certain way and hence 

forms a group. Who among the following does not 

belong to that group? 

A) Mayank 

B) Farhan 

C) Kavita 

D) Ankit 

E) Akhtar 

43) Who among the following got married on the year 

2004? 

A) Farhan 

B) Ruhi 

C) Mayank 

D) Ankit 

E) Faiza 

44) Which of the following statements is/are not true? 

A) Mayank has got married in the even year 

B) Faiza has got married in the year 2013 

C) Two persons had got married in between the marriage 

of Ankit and Mayank 

D) Both A and C 

E) Both A and B 

45) Which of the following combination is not true? 

A) 2000-Hema 

B) 2004-Akhtar 

C) 2010-Kavita 

D) 2007-Ruhi 

E) 2002-Farhan 

 

Directions (46-50): Study the following information 

carefully and answer the questions given below: 

 

Nine persons i.e. B, G, J, P, T, A, S, Vand Z were shifted 

in foreign from India in different years i.e. 1994, 1996, 

2001, 2004, 2005, 2007, 2010, 2013 and 2015 but not 

necessarily in the same order.  

S was shifted from India in the year 2004. Not more than 

two persons were shifted in between S and A where A was 

shifted after the shifting of S. Z was shifted from India just 

after the shifting of A. Only one person is shifted in 

between the shifting of Z and J. T was shifted in foreign 

after two years of shifting of G who was not shifted in an 

odd numbered year. V was shifted from India at last 

among all. No one shifted in between the shifting of V and 

P. 
46) Who among the following was shifted in the year 

2005? 

A) G 

B) J 

C) Z 

D) B 

E) T 

47) In which of the following year did P was shifted? 

A) 2005 

B) 2007 

C) 2013 

D) 1994 

E) 2015 

48) Which of the following combination are not true? 

A) 1996-T 

B) S-2004 

C) P-2013 

D) 2010-A 

E) G-1994 

49) Which of the following statements is/are not true? 

A) B was shifted after the shifting of J 

B) J was shifted two years before the shifting of A 

https://bit.ly/3bUbGO3
https://www.instamojo.com/@exampundit/lb7ee21f64ae44776b6a8fe5df4ce2eb6/


 

Year Based Puzzle Questions for SBI PO Prelims 

 

Page 8 of 44 

 

Subscribe The Xpress Video Course & Mock Test Package for Bank & Insurance Exams 

If there are any suggestions/ errors in our PDFs Feel Free to contact us via this email: admin@exampundit.in 

C) S was shifted in the year 2004 

D) Both A and B 

E) All are True 

50) How many persons were shifted in between T and 

the person who was shifted in 2007?  

A) One 

B) None 

C) Two 

D) Three 

E) More Than Three 

 

Year Based Puzzle - Answer and Explanation 

 

Answers (1-5): 

 

1) B 

2) D 

3) C 

4) A 

5) E 

 

Solutions (1-5): 

 

STEP I: Rishu was born in the year 1990. 

 

As per this statement, the arrangement will look like this: 

 

Years Names of Persons 

1872  

1885  

1894  

1990 Rishu 

1994  

1996  

1998  

2000  

2004  

 

STEP II: Only one person was born in between Rishu and 

Soham. 

As per this statement, there are two possible cases and the 

arrangement will look like this: 

 

CASE I: 

 

Years Names of Persons 

1872  

1885  

1894  

1990 Rishu 

1994  

1996 Soham 

1998  

2000  

2004  

 

CASE II: 

 

Years Names of Persons 

1872  

1885 Soham 

1894  

1990 Rishu 

1994  

1996  

1998  

2000  

2004  

 

STEP III: No one was born in between Soham and Amit. 

 

As per this statement, CASE I and CASE II will further 

get split into one more case of each and the arrangement 

will look like this: 

 

CASE I: 

 

Years Names of Persons 

1872  
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1885  

1894  

1990 Rishu 

1994  

1996 Soham 

1998 Amit 

2000  

2004  

 

CASE I (A): 

 

Years Names of Persons 

1872  

1885  

1894  

1990 Rishu 

1994 Amit 

1996 Soham 

1998  

2000  

2004  

 

CASE II: 

 

Years Names of Persons 

1872 Amit 

1885 Soham 

1894  

1990 Rishu 

1994  

1996  

1998  

2000  

2004  

 

CASE II (A): 

 

Years Names of Persons 

1872  

1885 Soham 

1894 Amit 

1990 Rishu 

1994  

1996  

1998  

2000  

2004  

 

STEP IV: Kirti was born in the year 2000. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names of Persons 

1872  

1885  

1894  

1990 Rishu 

1994  

1996 Soham 

1998 Amit 

2000 Kirti 

2004  

 

CASE I (A): 

 

Years Names of Persons 

1872  

1885  

1894  

1990 Rishu 

1994 Amit 

1996 Soham 

1998  

2000 Kirti 

2004  

 

CASE II: 

 

Years Names of Persons 

1872 Amit 
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1885 Soham 

1894  

1990 Rishu 

1994  

1996  

1998  

2000 Kirti 

2004  

 

CASE II (A): 

 

Years Names of Persons 

1872  

1885 Soham 

1894 Amit 

1990 Rishu 

1994  

1996  

1998  

2000 Kirti 

2004  

 

STEP V: There is the difference of two years in between 

the age of Kirti and Shivam. 

 

As per this statement, CASE I will get eliminated and we 

will continue with CASE I (A), CASE II and CASE II 

(A) and the arrangement will look like this: 

 

CASE I: 

 

Years Names of Persons 

1872  

1885  

1894  

1990 Rishu 

1994  

1996 Soham 

1998 Amit 

2000 Kirti 

2004  

CASE I (A): 

 

Years Names of Persons 

1872  

1885  

1894  

1990 Rishu 

1994 Amit 

1996 Soham 

1998 Shivam 

2000 Kirti 

2004  

 

CASE II: 

 

Years Names of Persons 

1872 Amit 

1885 Soham 

1894  

1990 Rishu 

1994  

1996  

1998 Shivam 

2000 Kirti 

2004  

 

CASE II (A): 

 

Years Names of Persons 

1872  

1885 Soham 

1894 Amit 

1990 Rishu 

1994  

1996  

1998 Shivam 

2000 Kirti 

2004  

 

STEP VI: Dolly is elder than Rishu but she is not the 

eldest. Ravi is the youngest person among all. 
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As per this statement, CASE II (A) will get eliminated 

and CASE I (A) will further get split into one more case 

and the arrangement will look like this: 

 

CASE I (A): 

 

Years Names of Persons 

1872  

1885  

1894 Dolly 

1990 Rishu 

1994 Amit 

1996 Soham 

1998 Shivam 

2000 Kirti 

2004 Ravi 

 

CASE I (B): 

 

Years Names of Persons 

1872  

1885 Dolly 

1894  

1990 Rishu 

1994 Amit 

1996 Soham 

1998 Shivam 

2000 Kirti 

2004 Ravi 

 

CASE II: 

 

Years Names of Persons 

1872 Amit 

1885 Soham 

1894 Dolly 

1990 Rishu 

1994  

1996  

1998 Shivam 

2000 Kirti 

2004 Ravi 

 

 

CASE II (A): 

 

Years Names of Persons 

1872  

1885 Soham 

1894 Amit 

1990 Rishu 

1994  

1996  

1998 Shivam 

2000 Kirti 

2004 Ravi 

 

STEP VII: There is the difference of more than two years 

in between the age of Mishi and Gargi where Mishi is 

elder than Gargi who was not born in the odd numbered 

year. 

 

As per this statement, CASE I (A) and CASE II will get 

eliminated and we will continue with CASE I (B) and the 

final arrangement will look like this: 

 

CASE I (A): 

 

Years Names of Persons 

1872  

1885  

1894 Dolly 

1990 Rishu 

1994 Amit 

1996 Soham 

1998 Shivam 

2000 Kirti 

2004 Ravi 

 

CASE I (B): 

 

Years Names of Persons 
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1872 Mishi 

1885 Dolly 

1894 Gargi 

1990 Rishu 

1994 Amit 

1996 Soham 

1998 Shivam 

2000 Kirti 

2004 Ravi 

 

CASE II: 

 

Years Names of Persons 

1872 Amit 

1885 Soham 

1894 Dolly 

1990 Rishu 

1994  

1996  

1998 Shivam 

2000 Kirti 

2004 Ravi 

 

Answers (6-10): 

 

6) C 

7) D 

8) B 

9) D 

10) E 

 

Solutions (6-10): 

 

STEP I: Jio mobile was launched in the odd numbered 

year but not in 1999 and 2001. 

 

As per this statement, there are two possible cases and the 

arrangement will look like this: 

 

CASE I: 

 

Years Names of Mobile Phones 

1999  

2001  

2004  

2005 Jio 

2007  

2010  

2014  

 

CASE II: 

 

Years Names of Mobile Phones 

1999  

2001  

2004  

2005  

2007 Jio 

2010  

2014  

 

STEP II: OnePlus mobile was launched just after the 

launch of Jio mobile. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names of Mobile Phones 

1999  

2001  

2004  

2005 Jio 

2007 OnePlus 

2010  

2014  

 

CASE II: 

 

Years Names of Mobile Phones 

1999  

2001  
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2004  

2005  

2007 Jio 

2010 OnePlus 

2014  

 

STEP III: Two mobiles were launched in between the 

launch of OnePlus mobile and the mobile of Realme 5. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names of Mobile Phones 

1999  

2001 Realme 5 

2004  

2005 Jio 

2007 OnePlus 

2010  

2014  

 

CASE II: 

 

Years Names of Mobile Phones 

1999  

2001  

2004 Realme 5 

2005  

2007 Jio 

2010 OnePlus 

2014  

 

STEP IV: Oppo and Samsung S8 mobile were launched 

in the difference of two years where the former one was 

launched earlier than the latter one. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names of Mobile Phones 

1999  

2001 Realme 5 

2004  

2005 Jio 

2007 OnePlus 

2010 Oppo 

2014 Samsung S8 

 

CASE II: 

 

Years Names of Mobile Phones 

1999 Oppo 

2001 Samsung S8 

2004 Realme 5 

2005  

2007 Jio 

2010 OnePlus 

2014  

 

STEP V: Nokia 2.0 mobile was launched after the launch 

of OnePlus mobile. 

 

As per this statement, CASE I will get eliminated and we 

will continue with CASE II and the arrangement will look 

like this: 

 

CASE I: 

 

Years Names of Mobile Phones 

1999  

2001 Realme 5 

2004  

2005 Jio 

2007 OnePlus 

2010 Oppo 

2014 Samsung S8 

 

CASE II: 

 

Years Names of Mobile Phones 
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1999 Oppo 

2001 Samsung S8 

2004 Realme 5 

2005  

2007 Jio 

2010 OnePlus 

2014 Nokia 2.0 

 

STEP VI: Samsung M30 mobile was launched before the 

launch of Nokia 2.0 mobile but after the launch of Realme 

5.  

 

As per this statement, the final arrangement will look like 

this: 

 

CASE II: 

 

Years Names of Mobile Phones 

1999 Oppo 

2001 Samsung S8 

2004 Realme 5 

2005 Samsung M30 

2007 Jio 

2010 OnePlus 

2014 Nokia 2.0 

 

Answers (11-15): 

 

11) B 

12) B 

13) C 

14) E 

15) D 

 

Solutions (11-15): 

 

STEP I: Vibhu was graduated in the odd year. 

 

As per this statement, there are four possible cases and the 

arrangement will look like this: 

 

CASE I: 

Year Names of Students 

2000  

2003 Vibhu 

2006  

2010  

2013  

2015  

2017  

 

CASE II: 

 

Year Names of Students 

2000  

2003  

2006  

2010  

2013 Vibhu 

2015  

2017  

 

CASE III: 

 

Year Names of Students 

2000  

2003  

2006  

2010  

2013  

2015 Vibhu 

2017  

 

CASE IV: 

 

Year Names of Students 

2000  

2003  

2006  

2010  

2013  

2015  

2017 Vibhu 
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STEP II: Only one person was graduated between Vibhu 

and Akbar who was not graduated at last. 

 

CASE I: 

 

Year Names of Students 

2000  

2003 Vibhu 

2006  

2010 Akbar 

2013  

2015  

2017  

 

CASE II: 

 

Year Names of Students 

2000  

2003  

2006 Akbar 

2010  

2013 Vibhu 

2015  

2017  

 

CASE III: 

 

Year Names of Students 

2000  

2003  

2006  

2010 Akbar 

2013  

2015 Vibhu 

2017  

 

CASE IV: 

 

Year Names of Students 

2000  

2003  

2006  

2010  

2013 Akbar 

2015  

2017 Vibhu 

 

STEP III: Ravina was graduated at the earliest. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Year Names of Students 

2000 Ravina 

2003 Vibhu 

2006  

2010 Akbar 

2013  

2015  

2017  

 

CASE II: 

 

Year Names of Students 

2000 Ravina 

2003  

2006 Akbar 

2010  

2013 Vibhu 

2015  

2017  

 

CASE III: 

 

Year Names of Students 

2000 Ravina 

2003  

2006  

2010 Akbar 

2013  

2015 Vibhu 
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2017  

 

CASE IV: 

 

Year Names of Students 

2000 Ravina 

2003  

2006  

2010  

2013 Akbar 

2015  

2017 Vibhu 

 

STEP IV: Arti was graduated six years after the 

graduation of Ravina.There was the difference of two 

years in between the graduation of Vaishali and Jayant 

where Jayant was graduated after the Vaishali graduated. 

 

As per this statement, CASE II ,CASE III and CASE IV 

will get eliminated and we will continue with CASE I and 

the arrangement will look like this: 

 

 

STEP V: Vishal was not graduated before Vaishali.  

 

As per this statement, the final arrangement will look like 

this: 

 

CASE I: 

 

Year Names of Students 

2000 Ravina 

2003 Vibhu 

2006 Arti 

2010 Akbar 

2013 Vaishali 

2015 Jayant 

2017 Vishal 

 

Answers (16-20): 

 

16) B 

17) C 

18) D 

19) A 

20) B 

 

Solutions (16-20): 

 

STEP I: Three persons were going on vacation in between 

H and A where H went on vacation before A. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names 

2001 H 

2002  

2004  

2005  

2007 A 

2010  

2014  

2019  

 

CASE II: 

 

Years Names 

2001  

2002 H 

2004  

2005  

2007  

2010 A 

2014  

2019  

 

CASE III: 

 

Years Names 

2001  

2002  
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2004 H 

2005  

2007  

2010  

2014 A 

2019  

 

CASE IV:  

 

Years Names 

2001  

2002  

2004  

2005 H 

2007  

2010  

2014  

2019 A 

 

STEP II: P went on vacation immediately before A. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names 

2001 H 

2002  

2004  

2005 P 

2007 A 

2010  

2014  

2019  

 

CASE II: 

 

Years Names 

2001  

2002 H 

2004  

2005  

2007 P 

2010 A 

2014  

2019  

 

CASE III: 

 

Years Names 

2001  

2002  

2004 H 

2005  

2007  

2010 P 

2014 A 

2019  

 

CASE IV:  

 

Years Names 

2001  

2002  

2004  

2005 H 

2007  

2010  

2014 P 

2019 A 

 

STEP III: More than two but less than four persons were 

going on vacation in between P and W. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names 

2001 H 

2002  

2004  
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2005 P 

2007 A 

2010  

2014  

2019 W 

 

CASE II: 

 

Years Names 

2001 W 

2002 H 

2004  

2005  

2007 P 

2010 A 

2014  

2019  

 

CASE III: 

 

Years Names 

2001  

2002 W 

2004 H 

2005  

2007  

2010 P 

2014 A 

2019  

 

CASE IV:  

 

Years Names 

2001  

2002  

2004 W 

2005 H 

2007  

2010  

2014 P 

2019 A 

STEP IV: Only one person was going on vacation in 

between W and T who did not go vacation in 2001. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names 

2001 H 

2002  

2004  

2005 P 

2007 A 

2010 T 

2014  

2019 W 

 

CASE II: 

 

Years Names 

2001 W 

2002 H 

2004 T 

2005  

2007 P 

2010 A 

2014  

2019  

 

CASE III: 

 

Years Names 

2001  

2002 W 

2004 H 

2005 T 

2007  

2010 P 

2014 A 

2019  
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CASE IV:  

 

Years Names 

2001  

2002  

2004 W 

2005 H 

2007 T 

2010  

2014 P 

2019 A 

 

STEP V: Z went on vacation just after the T went. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names 

2001 H 

2002  

2004  

2005 P 

2007 A 

2010 T 

2014 Z 

2019 W 

 

CASE II: 

 

Years Names 

2001 W 

2002 H 

2004 T 

2005 Z 

2007 P 

2010 A 

2014  

2019  

 

CASE III: 

Years Names 

2001  

2002 W 

2004 H 

2005 T 

2007 Z 

2010 P 

2014 A 

2019  

 

CASE IV:  

 

Years Names 

2001  

2002  

2004 W 

2005 H 

2007 T 

2010 Z 

2014 P 

2019 A 

 

STEP VI: R went on vacation just before the E went who 

did not go on vacation at last. 

 

As per this statement, CASE II and CASE III will get 

eliminated and we will continue with CASE I and CASE 

IV and the arrangement will look like this: 

 

CASE I: 

 

Years Names 

2001 H 

2002 R 

2004 E 

2005 P 

2007 A 

2010 T 

2014 Z 

2019 W 
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CASE II: 

 

Years Names 

2001 W 

2002 H 

2004 T 

2005 Z 

2007 P 

2010 A 

2014  

2019  

 

CASE III: 

 

Years Names 

2001  

2002 W 

2004 H 

2005 T 

2007 Z 

2010 P 

2014 A 

2019  

 

CASE IV:  

 

Years Names 

2001 R 

2002 E 

2004 W 

2005 H 

2007 T 

2010 Z 

2014 P 

2019 A 

 

STEP VII: R did not go on vacation in the even year. 

 

As per this statement, CASE I will get eliminated and we 

will continue with CASE IV and the final arrangement 

will look like this: 

CASE I: 

 

Years Names 

2001 H 

2002 R 

2004 E 

2005 P 

2007 A 

2010 T 

2014 Z 

2019 W 

 

CASE IV:  

 

Years Names 

2001 R 

2002 E 

2004 W 

2005 H 

2007 T 

2010 Z 

2014 P 

2019 A 

 

Answers (21-25): 

 

21) C 

22) B 

23) D 

24) A 

25) D 

 

Solutions (21-25): 

 

STEP I: Less than three persons got married after the 

marriage of Bebo. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names of Persons 
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1993  

1996  

2000  

2002  

2005  

2009 Bebo 

2013  

2018  

 

CASE II: 

 

Years Names of Persons 

1993  

1996  

2000  

2002  

2005  

2009  

2013 Bebo 

2018  

 

CASE III: 

 

Years Names of Persons 

1993  

1996  

2000  

2002  

2005  

2009  

2013  

2018 Bebo 

 

STEP II: Only one person got married in between Bebo 

and Kitty. 

 

As per this statement, CASE I will get split into one more 

case and the arrangement will look like this: 

 

CASE I: 

 

Years Names of Persons 

1993  

1996  

2000  

2002 Kitty 

2005  

2009 Bebo 

2013  

2018  

 

CASE I (A): 

 

Years Names of Persons 

1993  

1996  

2000  

2002  

2005  

2009 Bebo 

2013  

2018 Kitty 

 

CASE II: 

 

Years Names of Persons 

1993  

1996  

2000  

2002  

2005 Kitty 

2009  

2013 Bebo 

2018  

 

CASE III: 

 

Years Names of Persons 

1993  

1996  

2000  

2002  
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2005  

2009 Kitty 

2013  

2018 Bebo 

 

STEP III: Maggie was married at the earliest among all. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names of Persons 

1993 Maggie 

1996  

2000  

2002 Kitty 

2005  

2009 Bebo 

2013  

2018  

 

CASE I (A): 

 

Years Names of Persons 

1993 Maggie 

1996  

2000  

2002  

2005  

2009 Bebo 

2013  

2018 Kitty 

 

CASE II: 

 

Years Names of Persons 

1993 Maggie 

1996  

2000  

2002  

2005 Kitty 

2009  

2013 Bebo 

2018  

 

CASE III: 

 

Years Names of Persons 

1993 Maggie 

1996  

2000 Virat 

2002  

2005  

2009 Kitty 

2013  

2018 Bebo 

 

STEP IV: Virat got married seven years after the 

marriage of Maggie. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names of Persons 

1993 Maggie 

1996  

2000 Virat 

2002 Kitty 

2005  

2009 Bebo 

2013  

2018  

 

CASE I (A): 

 

Years Names of Persons 

1993 Maggie 

1996  

2000 Virat 

2002  

2005  
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2009 Bebo 

2013  

2018 Kitty 

 

CASE II: 

 

Years Names of Persons 

1993 Maggie 

1996  

2000 Virat 

2002  

2005 Kitty 

2009  

2013 Bebo 

2018  

 

CASE III: 

 

Years Names of Persons 

1993 Maggie 

1996  

2000 Virat 

2002  

2005  

2009 Kitty 

2013  

2018 Bebo 

 

STEP V: Rocky got married neither adjacent to the 

marriage of Kitty nor adjacent to the marriage of Virat. 

 

As per this statement, CASE I will further get split into 

one more case and CASE III will get eliminated and we 

will continue with CASE I, CASE I (A), CASE I (B) and 

CASE II and the arrangement will look like this: 

 

CASE I: 

 

Years Names of Persons 

1993 Maggie 

1996  

2000 Virat 

2002 Kitty 

2005  

2009 Bebo 

2013 Rocky 

2018  

 

CASE I (A): 

 

Years Names of Persons 

1993 Maggie 

1996  

2000 Virat 

2002  

2005 Rocky 

2009 Bebo 

2013  

2018 Kitty 

 

CASE I (B): 

 

Years Names of Persons 

1993 Maggie 

1996  

2000 Virat 

2002 Kitty 

2005  

2009 Bebo 

2013  

2018 Rocky 

 

CASE II: 

 

Years Names of Persons 

1993 Maggie 

1996  

2000 Virat 

2002  

2005 Kitty 

2009  

2013 Bebo 
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2018 Rocky 

 

CASE III: 

 

Years Names of Persons 

1993 Maggie 

1996  

2000 Virat 

2002  

2005  

2009 Kitty 

2013  

2018 Bebo 

 

STEP VI: Ajay did not get married in the even year. 

Arvind got married before the marriage of Nihal who got 

married three years before the marriage of Rocky. 

 

As per these statements, CASE I, CASE I (B) and CASE 

II will get eliminated and we will continue with CASE I 

(A) and the final arrangement will look like this: 

 

CASE I: 

 

Years Names of Persons 

1993 Maggie 

1996  

2000 Virat 

2002 Kitty 

2005  

2009 Bebo 

2013 Rocky 

2018  

 

CASE I (A): 

 

Years Names of Persons 

1993 Maggie 

1996 Arvind 

2000 Virat 

2002 Nihal 

2005 Rocky 

2009 Bebo 

2013 Ajay 

2018 Kitty 

 

CASE I (B): 

 

Years Names of Persons 

1993 Maggie 

1996  

2000 Virat 

2002 Kitty 

2005  

2009 Bebo 

2013  

2018 Rocky 

 

CASE II: 

 

Years Names of Persons 

1993 Maggie 

1996  

2000 Virat 

2002  

2005 Kitty 

2009  

2013 Bebo 

2018 Rocky 

 

Answers (26-30): 

 

26) B 

27) D 

28) E 

29) D 

30) B 

 

Solutions (26-30): 

 

STEP I: Seema has taken admission in the odd numbered 

year.  
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As per this statement, there are four possible cases and the 

arrangement will look like this: 

 

CASE I: 

 

Years Names of Persons 

1992  

1993 Seema 

1995  

1998  

2003  

2006  

2011  

 

CASE II: 

 

Years Names of Persons 

1992  

1993  

1995 Seema 

1998  

2003  

2006  

2011  

 

CASE III: 

 

Years Names of Persons 

1992  

1993  

1995  

1998  

2003 Seema 

2006  

2011  

 

CASE IV:  

 

Years Names of Persons 

1992  

1993  

1995  

1998  

2003  

2006  

2011 Seema 

 

STEP II: Tripti has taken admission just before the Seema 

has taken. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names of Persons 

1992 Tripti 

1993 Seema 

1995  

1998  

2003  

2006  

2011  

 

CASE II: 

 

Years Names of Persons 

1992  

1993 Tripti 

1995 Seema 

1998  

2003  

2006  

2011  

 

CASE III: 

 

Years Names of Persons 

1992  

1993  

1995  

1998 Tripti 

2003 Seema 
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2006  

2011  

 

CASE IV:  

 

Years Names of Persons 

1992  

1993  

1995  

1998  

2003  

2006 Tripti 

2011 Seema 

 

STEP III: Two persons has taken admission in between 

the admission of Seema and Rohan. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names of Persons 

1992 Tripti 

1993 Seema 

1995  

1998  

2003 Rohan 

2006  

2011  

 

CASE II: 

 

Years Names of Persons 

1992  

1993 Tripti 

1995 Seema 

1998  

2003  

2006 Rohan  

2011  

 

CASE III: 

 

Years Names of Persons 

1992  

1993 Rohan 

1995  

1998 Tripti 

2003 Seema 

2006  

2011  

 

CASE IV:  

 

Years Names of Persons 

1992  

1993  

1995  

1998 Rohan 

2003  

2006 Tripti 

2011 Seema 

 

STEP IV: Only one person has taken admission in 

between the admission of Rohan and Avi. 

 

As per this statement, CASE III will get eliminated and 

CASE I will further get split into one more case and the 

arrangement will look like this: 

 

CASE I: 

 

Years Names of Persons 

1992 Tripti 

1993 Seema 

1995 Avi 

1998  

2003 Rohan 

2006  

2011  

 

CASE I (A): 
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Years Names of Persons 

1992 Tripti 

1993 Seema 

1995  

1998  

2003 Rohan 

2006  

2011 Avi 

 

CASE II: 

 

Years Names of Persons 

1992  

1993 Tripti 

1995 Seema 

1998 Avi 

2003  

2006 Rohan  

2011  

 

CASE III: 

 

Years Names of Persons 

1992  

1993 Rohan 

1995  

1998 Tripti 

2003 Seema 

2006  

2011  

 

CASE IV:  

 

Years Names of Persons 

1992  

1993 Avi 

1995  

1998 Rohan 

2003  

2006 Tripti 

2011 Seema 

STEP V: Kshitij has not taken admission in the year 

adjacent to the year in which Rohan has taken admission. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names of Persons 

1992 Tripti 

1993 Seema 

1995 Avi 

1998  

2003 Rohan 

2006  

2011 Kshitij 

 

CASE I (A): 

 

Years Names of Persons 

1992 Tripti 

1993 Seema 

1995 Kshitij 

1998  

2003 Rohan 

2006  

2011 Avi 

 

CASE II: 

 

Years Names of Persons 

1992 Kshitij 

1993 Tripti 

1995 Seema 

1998 Avi 

2003  

2006 Rohan  

2011  

 

CASE IV:  

 

Years Names of Persons 
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1992 Kshitij 

1993 Avi 

1995  

1998 Rohan 

2003  

2006 Tripti 

2011 Seema 

 

STEP VI: Damini has taken admission after the 

admission of Varun but not in the odd numbered year. 

 

As per this statement, CASE II and CASE IV will get 

eliminated and we will continue with CASE I and CASE 

I (A) and the arrangement will look like this: 

 

CASE I: 

 

Years Names of Persons 

1992 Tripti 

1993 Seema 

1995 Avi 

1998 Varun 

2003 Rohan 

2006 Damini 

2011 Kshitij 

 

CASE I (A): 

 

Years Names of Persons 

1992 Tripti 

1993 Seema 

1995 Kshitij 

1998 Varun 

2003 Rohan 

2006 Damini 

2011 Avi 

 

CASE II: 

 

Years Names of Persons 

1992 Kshitij 

1993 Tripti 

1995 Seema 

1998 Avi 

2003  

2006 Rohan  

2011  

 

CASE IV:  

 

Years Names of Persons 

1992 Kshitij 

1993 Avi 

1995  

1998 Rohan 

2003  

2006 Tripti 

2011 Seema 

 

STEP VII: Avi didn't take admission adjacent to Damini. 

 

As per this statement, CASE I (A) will get eliminated and 

we will continue with CASE I and the final arrangement 

will look like this: 

 

CASE I: 

 

Years Names of Persons 

1992 Tripti 

1993 Seema 

1995 Avi 

1998 Varun 

2003 Rohan 

2006 Damini 

2011 Kshitij 

 

CASE I (A): 

 

Years Names of Persons 

1992 Tripti 

1993 Seema 

1995 Kshitij 
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1998 Varun 

2003 Rohan 

2006 Damini 

2011 Avi 

 

Answers (31-35): 

 

31) A 

32) D 

33) B 

34) D 

35) D 

 

Solutions (31-35): 

 

STEP I: Three persons has been retired in between the 

retirement of Vihan and Kabir where Vihan is retired 

before Kabir. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names 

2001 Vihan 

2002  

2005  

2006  

2009 Kabir 

2013  

2016  

2019  

 

CASE II: 

 

Years Names 

2001  

2002 Vihan 

2005  

2006  

2009  

2013 Kabir 

2016  

2019  

 

CASE III: 

 

Years Names 

2001  

2002  

2005 Vihan 

2006  

2009  

2013  

2016 Kabir 

2019  

 

CASE IV: 

 

Years Names 

2001  

2002  

2005  

2006 Vihan 

2009  

2013  

2016  

2019 Kabir 

 

STEP II: Two persons has been retired in between Kabir 

and Pinku who was not retired at last. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names 

2001 Vihan 

2002 Pinku 

2005  

2006  

2009 Kabir 
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2013  

2016  

2019  

 

CASE II: 

 

Years Names 

2001  

2002 Vihan 

2005 Pinku 

2006  

2009  

2013 Kabir 

2016  

2019  

 

CASE III: 

 

Years Names 

2001  

2002  

2005 Vihan 

2006 Pinku 

2009  

2013  

2016 Kabir 

2019  

 

CASE IV: 

 

Years Names 

2001  

2002  

2005  

2006 Vihan 

2009 Pinku 

2013  

2016  

2019 Kabir 

 

STEP III: Akbar was retired just after the retirement of 

Pinku. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names 

2001 Vihan 

2002 Pinku 

2005 Akbar 

2006  

2009 Kabir 

2013  

2016  

2019  

 

CASE II: 

 

Years Names 

2001  

2002 Vihan 

2005 Pinku 

2006 Akbar 

2009  

2013 Kabir 

2016  

2019  

 

CASE III: 

 

Years Names 

2001  

2002  

2005 Vihan 

2006 Pinku 

2009 Akbar 

2013  

2016 Kabir 

2019  
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CASE IV: 

 

Years Names 

2001  

2002  

2005  

2006 Vihan 

2009 Pinku 

2013 Akbar 

2016  

2019 Kabir 

 

STEP IV: Abhay got retired six years earlier than the 

retirement of Somu. 

 

As per this statement, CASE IV and CASE II will get 

eliminated and we will continue with CASE I and CASE 

III and the arrangement will look like this: 

 

CASE I: 

 

Years Names 

2001 Vihan 

2002 Pinku 

2005 Akbar 

2006  

2009 Kabir 

2013 Abhay 

2016  

2019 Somu 

 

CASE II: 

 

Years Names 

2001  

2002 Vihan 

2005 Pinku 

2006 Akbar 

2009  

2013 Kabir 

2016  

2019  

 

CASE III: 

 

Years Names 

2001  

2002  

2005 Vihan 

2006 Pinku 

2009 Akbar 

2013 Abhay 

2016 Kabir 

2019 Somu 

 

CASE IV: 

 

Years Names 

2001  

2002  

2005  

2006 Vihan 

2009 Pinku 

2013 Akbar 

2016  

2019 Kabir 

 

STEP V: Jeet has been retired in the even numbered year 

but not on 2016. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names 

2001 Vihan 

2002 Pinku 

2005 Akbar 

2006 Jeet 

2009 Kabir 

2013 Abhay 

2016  
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2019 Somu 

 

CASE III: 

 

Years Names 

2001  

2002 Jeet 

2005 Vihan 

2006 Pinku 

2009 Akbar 

2013 Abhay 

2016 Kabir 

2019 Somu 

 

STEP VI: Suresh was not retired after the retirement of 

Jeet. 

 

As per this statement, CASE I will get eliminated and we 

will continue with CASE III and the final arrangement 

will look like this: 

 

CASE I: 

 

Years Names 

2001 Vihan 

2002 Pinku 

2005 Akbar 

2006 Jeet 

2009 Kabir 

2013 Abhay 

2016  

2019 Somu 

 

CASE III: 

 

Years Names 

2001 Suresh 

2002 Jeet 

2005 Vihan 

2006 Pinku 

2009 Akbar 

2013 Abhay 

2016 Kabir 

2019 Somu 

 

Answers (36-40): 

 

36) B 

37) D 

38) C 

39) E 

40) D  

 

Solutions (36-40): 

 

STEP I: Two persons had joined the company before 

Mohit had joined. 

 

As per this statement, the arrangement will look like this: 

 

Years Names of Persons 

1996  

1999  

2000 Mohit 

2003  

2004  

2008  

2013  

 

STEP II: Only one person had joined the company in 

between the joining of Mohit and Rohit. 

 

As per this statement, there are two possible cases and the 

arrangement will look like this: 

 

CASE I: 

 

Years Names of Persons 

1996 Rohit 

1999  

2000 Mohit 

2003  
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2004  

2008  

2013  

 

CASE II: 

 

Years Names of Persons 

1996  

1999  

2000 Mohit 

2003  

2004 Rohit  

2008  

2013  

 

STEP III: Juhi had joined the company in the given 

adjacent year in which Rohit had joined. 

 

As per this statement, CASE II will further get split into 

one more case and the arrangement will look like this: 

 

CASE I: 

 

Years Names of Persons 

1996 Rohit 

1999 Juhi 

2000 Mohit 

2003  

2004  

2008  

2013  

 

CASE II: 

 

Years Names of Persons 

1996  

1999  

2000 Mohit 

2003 Juhi 

2004 Rohit  

2008  

2013  

 

CASE II (A): 

 

Years Names of Persons 

1996  

1999  

2000 Mohit 

2003  

2004 Rohit  

2008 Juhi 

2013  

 

STEP IV: Only one person had joined the company in 

between the joining of Juhi and Ajeet. 

 

As per this statement, CASE II will further get split into 

one more case and the arrangement will look like this: 

 

CASE I: 

 

Years Names of Persons 

1996 Rohit 

1999 Juhi 

2000 Mohit 

2003 Ajeet 

2004  

2008  

2013  

 

CASE II: 

 

Years Names of Persons 

1996  

1999  

2000 Mohit 

2003 Juhi 

2004 Rohit  

2008 Ajeet 
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2013  

 

CASE II (A): 

 

Years Names of Persons 

1996  

1999  

2000 Mohit 

2003 Ajeet 

2004 Rohit  

2008 Juhi 

2013  

 

CASE II (B): 

 

Years Names of Persons 

1996  

1999  

2000 Mohit 

2003 Juhi 

2004 Rohit  

2008 Ajeet 

2013  

 

STEP V: Naina had joined the company at last among all. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names of Persons 

1996 Rohit 

1999 Juhi 

2000 Mohit 

2003 Ajeet 

2004  

2008  

2013 Naina 

 

CASE II: 

Years Names of Persons 

1996  

1999  

2000 Mohit 

2003 Juhi 

2004 Rohit  

2008 Ajeet 

2013 Naina 

 

CASE II (A): 

 

Years Names of Persons 

1996  

1999  

2000 Mohit 

2003 Ajeet 

2004 Rohit  

2008 Juhi 

2013 Naina 

 

CASE II (B): 

 

Years Names of Persons 

1996  

1999  

2000 Mohit 

2003 Juhi 

2004 Rohit  

2008 Ajeet 

2013 Naina 

 

STEP V: Sneha had joined the company before the 

joining of Naina but after the joining of Ajeet. 

 

As per this statement, CASE II, CASE II (A) and CASE 

II (B) will get eliminated and CASE I will further get split 

into one more case and the arrangement will look like this: 

 

CASE I: 

 

https://bit.ly/3bUbGO3
https://www.instamojo.com/@exampundit/lb7ee21f64ae44776b6a8fe5df4ce2eb6/


 

Year Based Puzzle Questions for SBI PO Prelims 

 

Page 35 of 44 

 

Subscribe The Xpress Video Course & Mock Test Package for Bank & Insurance Exams 

If there are any suggestions/ errors in our PDFs Feel Free to contact us via this email: admin@exampundit.in 

Years Names of Persons 

1996 Rohit 

1999 Juhi 

2000 Mohit 

2003 Ajeet 

2004  

2008 Sneha 

2013 Naina 

 

CASE I (A): 

 

Years Names of Persons 

1996 Rohit 

1999 Juhi 

2000 Mohit 

2003 Ajeet 

2004 Sneha 

2008  

2013 Naina 

 

CASE II: 

 

Years Names of Persons 

1996  

1999  

2000 Mohit 

2003 Juhi 

2004 Rohit  

2008 Ajeet 

2013 Naina 

 

CASE II (A): 

 

Years Names of Persons 

1996  

1999  

2000 Mohit 

2003 Ajeet 

2004 Rohit  

2008 Juhi 

2013 Naina 

 

CASE II (B): 

 

Years Names of Persons 

1996  

1999  

2000 Mohit 

2003 Juhi 

2004 Rohit  

2008 Ajeet 

2013 Naina 

 

STEP VI: There is the difference of five years in between 

the joining of Ajeet and Ritika.. 

 

As per this statement, CASE I will get eliminated and we 

will continue with CASE I (A) and the final arrangement 

will look like this: 

 

CASE I: 

 

Years Names of Persons 

1996 Rohit 

1999 Juhi 

2000 Mohit 

2003 Ajeet 

2004 Ritika 

2008 Sneha 

2013 Naina 

 

CASE I (A): 

 

Years Names of Persons 

1996 Rohit 

1999 Juhi 

2000 Mohit 

2003 Ajeet 

2004 Sneha 

2008 Ritika 
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2013 Naina 

 

Answers (41-45): 

 

41) B 

42) A 

43) D  

44) A 

45) B 

 

Solutions (41-45): 

 

STEP I: Less than three persons got married after the 

marriage of Mayank. 

 

As per this statement, there are three possible cases and 

the arrangement will look like this: 

 

CASE I: 

 

Years Names 

2000  

2002  

2004  

2006  

2007  

2009 Mayank 

2010  

2013  

 

CASE II: 

 

Years Names 

2000  

2002  

2004  

2006  

2007  

2009  

2010 Mayank 

2013  

CASE III: 

 

Years Names 

2000  

2002  

2004  

2006  

2007  

2009  

2010  

2013 Mayank 

 

STEP II: Only one person got married in between the 

marriage of Mayank and Akhtar. 

 

As per this statement, CASE I will further get split into 

one more case and the arrangement will look like this: 

 

CASE I: 

 

Years Names 

2000  

2002  

2004  

2006  

2007  

2009 Mayank 

2010  

2013 Akhtar 

 

CASE I (A): 

 

Years Names 

2000  

2002  

2004  

2006 Akhtar 

2007  

2009 Mayank 

2010  

2013  
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CASE II: 

 

Years Names 

2000  

2002  

2004  

2006  

2007 Akhtar 

2009  

2010 Mayank 

2013  

 

CASE III: 

 

Years Names 

2000  

2002  

2004  

2006  

2007  

2009 Akhtar 

2010  

2013 Mayank 

 

STEP III: Farhan has got married in the year 2002. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names 

2000  

2002 Farhan 

2004  

2006  

2007  

2009 Mayank 

2010  

2013 Akhtar 

 

CASE I (A): 

Years Names 

2000  

2002 Farhan 

2004  

2006 Akhtar 

2007  

2009 Mayank 

2010  

2013  

 

CASE II: 

 

Years Names 

2000  

2002 Farhan 

2004  

2006  

2007 Akhtar 

2009  

2010 Mayank 

2013  

 

CASE III: 

 

Years Names 

2000  

2002 Farhan 

2004  

2006  

2007  

2009 Akhtar 

2010  

2013 Mayank 

 

STEP IV: Ankit got married just after the marriage of 

Farhan. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 
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Years Names 

2000  

2002 Farhan 

2004 Ankit 

2006  

2007  

2009 Mayank 

2010  

2013 Akhtar 

 

CASE I (A): 

 

Years Names 

2000  

2002 Farhan 

2004 Ankit 

2006 Akhtar 

2007  

2009 Mayank 

2010  

2013  

 

CASE II: 

 

Years Names 

2000  

2002 Farhan 

2004 Ankit 

2006  

2007 Akhtar 

2009  

2010 Mayank 

2013  

 

CASE III: 

 

Years Names 

2000  

2002 Farhan 

2004 Ankit 

2006  

2007  

2009 Akhtar 

2010  

2013 Mayank 

 

STEP V: Ruhi got married three years after the marriage 

of Ankit. 

 

As per this statement, CASE II will get eliminated and we 

will continue with CASE I, CASE I (A) and CASE III 

and the arrangement will look like this: 

 

 CASE I: 

 

Years Names 

2000  

2002 Farhan 

2004 Ankit 

2006  

2007 Ruhi 

2009 Mayank 

2010  

2013 Akhtar 

 

CASE I (A): 

 

Years Names 

2000  

2002 Farhan 

2004 Ankit 

2006 Akhtar 

2007 Ruhi 

2009 Mayank 

2010  

2013  

 

CASE II: 

 

Years Names 

2000  

2002 Farhan 
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2004 Ankit 

2006  

2007 Akhtar 

2009  

2010 Mayank 

2013  

 

CASE III: 

 

Years Names 

2000  

2002 Farhan 

2004 Ankit 

2006  

2007 Ruhi 

2009 Akhtar 

2010  

2013 Mayank 

 

STEP VI: Kavita got married just before the marriage of 

Faiza. 
 

As per this statement, CASE I and CASE III will get 

eliminated and we will continue with CASE I (A) and the 

final arrangement will look like this: 

 

CASE I: 

 

Years Names 

2000  

2002 Farhan 

2004 Ankit 

2006  

2007 Ruhi 

2009 Mayank 

2010  

2013 Akhtar 

 

CASE I (A): 

 

Years Names 

2000 Hema 

2002 Farhan 

2004 Ankit 

2006 Akhtar 

2007 Ruhi 

2009 Mayank 

2010 Kavita 

2013 Faiza 

 

CASE III: 

 

Years Names 

2000  

2002 Farhan 

2004 Ankit 

2006  

2007 Ruhi 

2009 Akhtar 

2010  

2013 Mayank 

 

Answers (46-50): 

 

46) B 

47) C 

48) D 

49) A 

50) D 

 

Solutions (46-50): 

 

STEP I: S was shifted from India in the year 2004. 

 

As per this statement, the arrangement will look like this: 

 

Years Names 

1994  

1996  

2001  

2004 S 

2005  

https://bit.ly/3bUbGO3
https://www.instamojo.com/@exampundit/lb7ee21f64ae44776b6a8fe5df4ce2eb6/


 

Year Based Puzzle Questions for SBI PO Prelims 

 

Page 40 of 44 

 

Subscribe The Xpress Video Course & Mock Test Package for Bank & Insurance Exams 

If there are any suggestions/ errors in our PDFs Feel Free to contact us via this email: admin@exampundit.in 

2007  

2010  

2013  

2015  

 

STEP II: Not more than two persons were shifted in 

between S and A where A was shifted after the shifting of 

S. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names 

1994  

1996  

2001  

2004 S 

2005  

2007 A 

2010  

2013  

2015  

 

CASE II: 

 

Years Names 

1994  

1996  

2001  

2004 S 

2005 A 

2007  

2010  

2013  

2015  

 

CASE III: 

 

Years Names 

1994  

1996  

2001  

2004 S 

2005  

2007  

2010 A 

2013  

2015  

 

STEP III: Z was shifted from India just after the shifting 

of A. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names 

1994  

1996  

2001  

2004 S 

2005  

2007 A 

2010 Z 

2013  

2015  

 

CASE II: 

 

Years Names 

1994  

1996  

2001  

2004 S 

2005 A 

2007 Z 

2010  

2013  

2015  

 

CASE III: 
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Years Names 

1994  

1996  

2001  

2004 S 

2005  

2007  

2010 A 

2013 Z 

2015  

 

STEP IV: Only one person is shifted in between the 

shifting of Z and J. 

 

As per this statement, CASE I will further get split into 

one more case and the arrangement will look like this: 

 

CASE I: 

 

Years Names 

1994  

1996  

2001  

2004 S 

2005 J 

2007 A 

2010 Z 

2013  

2015  

 

CASE I (A): 

 

Years Names 

1994  

1996  

2001  

2004 S 

2005  

2007 A 

2010 Z 

2013  

2015 J 

 

CASE II: 

 

Years Names 

1994  

1996  

2001  

2004 S 

2005 A 

2007 Z 

2010  

2013 J 

2015  

 

CASE III: 

 

Years Names 

1994  

1996  

2001  

2004 S 

2005  

2007 J 

2010 A 

2013 Z 

2015  

 

STEP V: T was shifted in foreign after two years of 

shifting of G who was not shifted in an odd numbered 

year. 

 

As per this statement, the arrangement will look like this: 

 

CASE I: 

 

Years Names 

1994 G 

1996 T 

2001  

2004 S 
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2005 J 

2007 A 

2010 Z 

2013  

2015  

 

CASE I (A): 

 

Years Names 

1994 G 

1996 T 

2001  

2004 S 

2005  

2007 A 

2010 Z 

2013  

2015 J 

 

CASE II: 

 

Years Names 

1994 G 

1996 T 

2001  

2004 S 

2005 A 

2007 Z 

2010  

2013 J 

2015  

 

CASE III: 

 

Years Names 

1994 G 

1996 T 

2001  

2004 S 

2005  

2007 J 

2010 A 

2013 Z 

2015  

 

STEP VI: V was shifted from India at last among all. 

 

As per this statement, CASE I (A) will get eliminated and 

we will continue with CASE I, CASE II and CASE III 

and the arrangement will look like this: 

 

CASE I: 

 

Years Names 

1994 G 

1996 T 

2001  

2004 S 

2005 J 

2007 A 

2010 Z 

2013  

2015 V 

 

CASE I (A): 

 

Years Names 

1994 G 

1996 T 

2001  

2004 S 

2005  

2007 A 

2010 Z 

2013  

2015 J 

 

CASE II: 

 

Years Names 

1994 G 

1996 T 

https://bit.ly/3bUbGO3
https://www.instamojo.com/@exampundit/lb7ee21f64ae44776b6a8fe5df4ce2eb6/


 

Year Based Puzzle Questions for SBI PO Prelims 

 

Page 43 of 44 

 

Subscribe The Xpress Video Course & Mock Test Package for Bank & Insurance Exams 

If there are any suggestions/ errors in our PDFs Feel Free to contact us via this email: admin@exampundit.in 

2001  

2004 S 

2005 A 

2007 Z 

2010  

2013 J 

2015 V 

 

CASE III: 

 

Years Names 

1994 G 

1996 T 

2001  

2004 S 

2005  

2007 J 

2010 A 

2013 Z 

2015 V 

 

STEP VII: No one shifted in between the shifting of V 

and P. 
 

As per this statement, CASE II and CASE III will get 

eliminated and we will continue with CASE I and the 

final arrangement will look like this: 

 

CASE I: 

 

Years Names 

1994 G 

1996 T 

2001 B 

2004 S 

2005 J 

2007 A 

2010 Z 

2013 P 

2015 V 

 

CASE II: 

 

Years Names 

1994 G 

1996 T 

2001  

2004 S 

2005 A 

2007 Z 

2010  

2013 J 

2015 V 

 

CASE III: 

 

Years Names 

1994 G 

1996 T 

2001  

2004 S 

2005  

2007 J 

2010 A 

2013 Z 

2015 V 
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